Paper / Subject Code: 40421 / Engmeerlng Math@matlcs IV

[Total Mar;gsf’_:‘f“SO]

(-random varlable X has probabﬂlty mass functlon p(x) =k x%lx;2,3,4 théh’ |
.find the value ofk, mean varlance ; : ous -

(d)g:"\f‘“:'Flnd the probablhty that at most 4 defectlve bulbs will be fmmd ina box of 200
‘ if it is known that 2%:0f the bulbs are defectwe :
Q»ZM (a) Find the rank correlajg@‘n coefﬁclf-gnt betwggg X and Y "

two ballsare drawn from urn B. Urn A contams 3 black and 5 white balls. Umn B
> contains 7 blackand one white’ ball. What is the probablhty that urn A was used,

given'that both ballsdrawn' are black”
Fita stralght Ime y=a + bx 1nto the glven da &
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: Evaluate Value of f

;Frequency.y 152025 [15]29 | 28 SED

Paper / Subject Code: 40421 / Engineeriﬁ’g Mathematics - v 7

Using Green’s Theorem evaluate. f (xy + yz)dx + xzdy and c is‘losed curve }

of the region bounded by y = xand y = x?
A machinist is expected to make engine: parts with axle diameter of 1.75 cm. A
random sample of 10 parts shows a mean diameter of 1.85 ¢cm, with a S.D of

0.1 cm. Based on this sample would you say that the Work of the machlmst is. ,4

inferior?
A random variable X follows a nermal dlstrrbutron w1th mean 14 and standard

deviation 2.5 find (1 )P[ X<8]. 2) P[X>18] (3) P[12<X<15] Grven
Area between z—O and z= 4 1s 0. 4918 Area between 2”0 and z=1.6.18

0.4452 ; Area between z=0 and z—O 8 18 0. 2882 ‘Area between z—O and z=0. 4?;

is 0. 1554

The standard dev1at10n from, two random samples of sizes 9 and 13 are 1 99
and 1:9. Can the_ ‘samples be' regard as drawn from normal populatlon with
same standard. devratlon?(F(g 12)(0./ 025) = 3.5% F(12 8)( 025) = 4 20)

Use Gauss s Divergence Theorem to evaluate ff N.F dsw where

; ;F 4x1 2 2y j +zzk and S s regronboundedbyx +y = 4 z= O g =
4

Obtam both Line. of regressmns for the data gwen below

sin2z dz

z—;——/-;);rims where C lz} = 2

The followmg data ﬁnd the correlati()n coefﬁment to marks obtamed by 1 1

{‘fzof the year after 1ntens1ve coa mg

\z.\ y

Test1 | 10 23 1624717 [ 18 [20 [ 1821 ] 19 201‘"”
Test2 | 1724 | 20] 24120 [22:{2020 18 [22 |19

A die was thrown 132 tlmes and the fr 11@w1ng frequenmes were observed.
No. obtalned ;f.~;1 2 | 3 | 4| 5. 6 | Total

 Test the':‘hnypothesi"szf’that the dle is unbiased at 5% level of significance.

_\1s 11. 07)

(Grven Table value of ;g at 5% level of significance and 5 degree of freedom

’,1‘,*********
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Gwen ¥ X =250 ; ¥ Y= 300; ZXY = 7900 EX2—6509 ZYZ =IOOOO and‘ J
n n'=10 (in usual notatlon)
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